2025 E/KEREHR RFOABLLUT L BB LU % K35 HO

IHH BT KEKEEEESE 6H2H HE TIRIE
21— EE CFU/mL 100LLF 0 0
#2 | KBEE BREINAGNIE B LAL BRHELGEL
H3 |AREHLRUZEDILEY mg/L 0.003LLF <0.0003 0.0003
Ha |KERVZDILEY mg/L 0.0005LLF <0.00005 0.00005
H5 |[ELUORUZEDEEY mg/L 001LUF <0.001 0.001
6 |SMRUZDIEEY mg/L 0.01LLTF <0.001 0.001
H7 [ERRUZDILEY mg/L 0.01LUTF <0.001 0.001
#Hg |ANE/OLIEEY mg/L 0.02LLF <0.002 0.002
Ho |FHEBERER mg/L 0.04LLF <0.004 0.004
B0 |7 1A A U RUEIEL 7Y mg/L 0.01LLTF <0.001 0.001
H11 |HBEERRRUVEHEBEEZER mg/L 10LLF 0.48 0.05
Hi12 [DvRRUVZDEEY mg/L 0.8LLTF 0.11 0.05
H13 |FRORRUVZDILEY mg/L 10T 0.02 0.01
14 |mgERER mg/L 0.002LLF <0.0002 0.0002
H15 14-OFFH> mg/L 0.05LLF <0.005 0.005
H16 [ ARURSVR-12-CH00TFLY mg/L 0.04LLF <0.001 0.001
17 [Coooray mg/L 0.02LLF <0.001 0.001
#Hi18 |0 FLY mg/L 0.01UTF <0.001 0.001
19 |MJyooTFLY mg/L 0.01LTF <0.001 0.001
Ho0 |[RoEY mg/L 0.01LLTF <0.001 0.001
ot 155K EE mg/L 0.6LLF 0.21 0.06
22 |yOOEE mg/L 0.02LLF <0.002 0.002
#23 |rOoOkILL me/L 0.06LLF 0.002 0.001
Hoa |CHOOFEE mg/L 0.03LLTF <0.002 0.002
#Hos (CJoE/OOAY mg/L 01T 0.001 0.001
o6 |RFEHEE mg/L 0.01LLTF <0.001 0.001
o7 [#ar)\O A% mg/L 01T 0.005 0.001
o8 |F)HOOEE mg/L 0.03LLF <0.002 0.002
Hoo |TJOESH/OOARY mg/L 0.03LLF 0.002 0.001
230 |7OERILL mg/L 0.09LLF <0.001 0.001
31 [RILLFILTER mg/L 0.08LLF <0.005 0.005
H32 |BRRVZDILEY mg/L 10T <0.01 0.01
H33 | ZILZZOLRUVFDEEY mg/L 0.2LLF 0.05 0.01
H34 | EUZDEEY mg/L 0.3LLTF <0.01 0.01
H35 |ARUVZDIEEY mg/L 10LLF <0.01 0.01
#H36 |FRIDLRUVZDILEY mg/L 200LLF 19 1
H37 [RUAHVRUVEFDIEEY mg/L 0.05LLF <0.001 0.001
H38 |1Ekma4> mg/L 200LLF 8.6 1
H39 (ALY LTI R LEREE) mg/L 300LLF 67 5
HA0 |ZRHEZEY mg/L 500LLF 160 1
Ha a4 REmEHER mg/L 02LLF <0.02 0.02
a2 [CxARIY mg/L 0.00001 LA F <0.000001 0.000001
A3 |2-AF ILAYRIL A —IL mg/L 0.00001 LA F <0.000001 0.000001
Haa |FEAA 2 REFEHER mg/L 0.02LLF <0.005 0.005
Has5 | Dz /—)LEE mg/L 0.005LLF <0.0005 0.0005
a6 | BRI EERRFR(TOC)DE) mg/L 3UTF <0.3 03
£47 |pHE 58LL E86LLT 74 0.1fE1k=
48 bk BETHWIE BBl Bl
H49 |BER BETHWIE BBl Bl
H50 |BE i:4 5T <0.5 0.5
H51 [[BE E3 2T <0.1 0.1




